MULTIPLICATION: DECIMAL NUMBERS (H - SET 3)

THREE DECIMAL PLACES Hame:
Time: Score: y—
15 (0.2 x 0.04 = 196 0.6 X 8 =
1220 0.0] x 2 = 1971 x 0.07 =
1) 9 x 0.2 = 085 X T =
159 (0.5 x 0.004 = 199 0.005 X 3 =
155 0.005 x 0.005 = 2000 0.4 x 0.2 =
16) 0.6 x 0.09 = 20) (0.007 x 0.05 =
1597 0 x 0.00] = 202) (0.3 x 0.008 =
155) 0.07 X 0 = 203) 1 x 0.09 =
189) 7T x ()= 20 2 x 0.009 =
10 0.01 x 0.01 = 205 2 X 3=
9 0 x 0.09 = 2060 (.06 x 0.001 =
1920 () x 0.03 = 2015 x 0.1 =
193) 1 x 9 = 208) 7 x 0.004 =
1993 x 0.05 = 209 8 X 1=
195 (0.02 x 0.001 = 2001 x 0.04 =
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